EARAZROREIERT — 2 N—XBISY —F 20175E3H22H (k) 19@EIK#H3H

m"fﬁ%—ﬂﬁ C1EmEANR ‘ (%E] W ‘ (REE] — | 4 (&) 14000 B
[A&4£] 1 7% :1,500,000 @ ~ 23 :600,000 33%&:375,000  ~ 43#&:225,000 . 5 3% :150,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N 1EIRTHEE :28. -9 . — FHERE (KHF
117112 VAP 47 we 1(2_8)7 10-9-9 | 38.7 1 :Zg (E)k;}ﬁ?&%
L:Er/ K53y B:EYRZOVY =/ BR%5
TR 4 5 | AR 1:29.5 7-6-4 |39.7| — 2 483 | REREE (1111&)
2|1 | Ty BT 6.0 @) wy | B 75 Fas
L:Z2v—hKR—9 B:0OFvy bXZ—F VA ¢
o N . FREER : -9- — EHER (KH)
3 4l ETLRT—LE o4 zh (11219/47> 10-9-10 | 39.7 6 (4_423) (E)E e
AT RIAY BT b Fv—L HRILESS
. (PN : -12- — FEEBRIK (KH)
4 AL EE R H 6 e (11.219/.3 14-12-11 | 39.8 8 (4_528) e
R:Z2g—Y>r0—-X B:IT7RINAI— ES 3]
[N o < EA . 8- _ DISE
5 6|2 by TERSR f 4 ﬂs‘g_ﬂaﬁu 1(730t§) 58-8 [40.0 i} (i?g) ?%Z;é (K3)
L.vrsaoq B UTIFIN— J—HrTr—LA
B FEFIKE :30. 14~ . - HHARE (KH)
6lil1| &y F7—IE o4 i 1(/:\3(;5) 13-14-14 | 39.9 7 (4+811) *’A\EB%
RPALE bFr—I B8y F S xHA FIRI IE
N s s hHEE : —4— — BEAEE (KH)
7lglis| xHEVIYa> i 5 s 1(/3%) 8-4-4 | 40.3 4 ;1_636) s
L:hzxex) B.vAFvr T—=I KT y7—L
N IRHAH TS : 7 — BERE (KH)
8 EN=PE ) i 7 s 1(.13/02.)1 6-7-7 | 40.2 9 (5:)51) BaE
Z:d—IRF7Ya—Ib B:qA F«d57 M7 7 — L4
. - JIRE— : 11— - SIEEE (KH)
9 10 FLUTILFIX 4 4 oy 1.(310).3 8-11-13 | 40.2 12 ;1:135) ;gé
R:74HO BYIZTI-% H e LS
o Ar—1t :30. == . — saARZEL (1)
10 2 RI2YyH % 5 i i 1(33/%4 2-2-1 40.9 5 (4:3:) R
L34 m BiASILYE R H2 0 LS
N KHfE— : -13- — ARFE (KH)
1 3| 7P Y1 it 4 o (11310/3 10-13-11 | 40.5 13 (4_222) parr i
R:Td—T4F4F—-XY%> B:/—-Xboay ry Y avEEMASH T avH
3 St 4 4 | SEBEK 1:30.7 3-3-2 |41.2| — 14 433 | BEASEDE (K
12/ 8|14 B/ 72K 54.0 (172) (-q) |HEEE
R:hIHATAIE B:ax/Fv—L JT—IVRTp—L
L i 4 | REHEZ 1:30.9 444 | M2| — 3 454 | BERHER (KFH)
13/5| 7 o4 >TIx MOE (3/4) (-4) (%) 77—RPEY 3>
RixAvaf—5— BFAT7A4 H%— AXREY1—Tr—L
8 44 | &IIGEHD 1:32.3 1-1-2 (428 — 10 | 446 |FEE— (i)
1458 | 7O—2 56.0 @ e | KEEE
RHIRT4 TR B:SoFL =7 AIE R
® 1—F—@EBIERL
13—7-—
230—7F— |8,2,14,7,6,9,11,(10,13),(3,4,12) ,1,5
Ja=5= 8,2,14,(7,13),11,9,6, (4,12),10,5,3,1
43—+ — 2,(8,14),(7,11,13),9,6,12,4, (3,5) ,10,1
[ N5
BB 12 230 | | 74 K 11-12 250/ | | # E 7-7 580M | | 3:=E | 4-11-12 3,370M
B B 12 1204 4-12 990M e B -7 390M EH 12-11-4 11,550
1 1509 4-11 1,540M B & 11-12 530M
4 430M B HE 12-11 1,040/

ABICOVWTRDTEEERROODE. TR LIV,



